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Cynthia
Adding rise time constraint to the original problem requires resolving the single net problems.  Below is the new problem that is currently under solving:
min P/l

s.t. ln(9)* τ < 0.25*Tclk

      ln(2)* τ/l < Tclk / L

,where L is the total length of the wire and l is the length of a segment.

The rise time for a segment is bounded by 25% of the clock period.   The new problem has two constraints.  To simplify the problem, by using the similarity in the way we calculate rise time and delay, we can derive the condition when one constraint dominates the other.

L > ln(9)/ln(2) *4 * l

The delay constraint will dominate 

L < ln(9)/ln(2) * 4* l

The rise time constraint will dominate

The factor 4 comes from the upper bound that the rise time is less than 25% of the clock period.

I try to solve the new problem in matlab but so far I was not able to achieve a feasible solution yet.  I shall continue trying.

